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THMTEIASE (1)

1 Al #F X g = WMARE a &t M o

B % % & ke 434, 200 89, 100 23,400 546, 700 F x| B F
k= A& | R E
F E & B % 2 B _ﬁ_” x fmo# (A * 7% E i
( kg ) = fE B % (B
( B % ]
WA 33,619 12kg 2,052 1,782 1,512 Rz EBRS b
FEIZA LA 18,2501 10kg 3,240 - 2,322 > 1,404 -| ERE RI&
ZIES 1,765 Akg 2,430 2,376 2,322 Xk FH s
fziro 12 2kg 3,240 - 3,240 —| 3,240 —| +E fh
S 45,286] 13kg 2,862 || 2,727 || 2,592 -] % EEX b
FrRY 82,945 10kg 2,700 | 1,998 || 1,296 - ZEH& b
ESNAZS 8,546] 300g 76 | 76 | 16 || EE &E i
AE 184 dkg 1,612 || 1,324 || 1,080 || 2% 4t
Hia& 4,256 3kg 2,052 = 1,674 || 1,296 || X% o©E
FhE 1,966 5kg 4320 || 4,320 1| 4,320 1| =& #
AN 3,479 Akg 1,782 || 1,485 || 1,188 —| %8R KX {h
k< k 5, 448 Akg 1,944 - 1,675 1| 1,188 —] & & b
T oY 8,724 5kg 1,944 —| 1,620 —| 1,296 —| &ZE
E—<> 4,034 130g 89 | 88 1| BERE =H b
MAL & 25, 365 5kg 1,944 —| 1,512 -] 1,080 = K% *HE b
[EFnuL &£ 22,5601 10kg 3,780 T 3,024 7| 2,268 1| dimE EIRE b
f-FEh&E 44,410 20kg 3,240 || 2,754 —| 2,268 7| dimE it
La R 21,664] 10kg 2,916 || 2,322 || 1,728 &Il E&
£ LW 2,545  200g 216 — 194 — 173 -] ®#8 b
ADEITF 2,161  200g 70 — 68 — 65 -] K% b
[ 8 % ]

Hio2hA 10,926] 10kg 2,700 || 2,160 || 1,620 || ERE 4t
WEhA 55901 10kg 2,484 1| 2,115 1 108 || =&
FoE LA 1,986] 10kg 1,404 | 1,080 | 7% 1| & 4w
BRALUY 2,901 10kg 4,428 || 4,374 1| 4,320 7| ##bL 4
TIIEA 19,530] 10kg 4,320 || 4,212 || 4,104 || ES it
AL 18,850] 10kg 5,940 —| 4,590 1| 3,240 7| &H #
£ 2,900 10kg 3,240 || 3,078 || 2,916 || &#H% ft
aFd—ILK 3,560 10kg 4,860 || 3,780 l| 2,700 || &% 1t
WwsZ 21,3470 210g 540 — 405 — 210 —| 1B R& fth
F—4
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